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NEW QUESTION 1
A department sends in a ticket to report a printer is not working. The responding technician sees paper stuck to the fuser, which is much hotter than normal. The
(user was just installed a few weeks ago. as indicated by the service history. Which of the following should the technician do NEXT?

A. Disable the printer for repairs.
B. Install a printer roller kit.
C. Remove the paper and let the fuser cool down.
D. Replace the paper with thicker paper stock.

Answer: C

NEW QUESTION 2
Upon booting a workstation, a technician hears a distinct clicking sound after power is applied to the motherboard. Which of the following would MOST likely be the
cause?

A. RAID
B. SSD
C. S.M.A.R.T
D. HDD

Answer: D

Explanation: 
The clicking sound is the sound of a damaged disk in the HDD 

NEW QUESTION 3
A user who works with sensitive data has a computer configured with hard drive encryption The TPM is active and hosting the encrypted key. After an upgrade to
the motherboard. RAM and video card the hard drive is not booting and data cannot be accessed from the hard drive. Which of the following should the technician
do to enable the system to boot again and get access to the stored data?

A. Use data recovery software to find and recover the hard drive information
B. Access the BIOS and select to rebuild the degraded RAID array
C. Boot into the BIOS and enable the TPM on the new motherboard.
D. Return the replaced motherboard back to the computer

Answer: A

NEW QUESTION 4
An online retailer would like to add capacity to support increased sales. Additional servers have been installed. Which of the following should be used to ensure
each new server is being properly utilized?

A. Virtualization
B. Clustering
C. Load balancer
D. Round-robin DNS

Answer: C

Explanation: 
https://www.resonatenetworks.com/2020/04/29/clustering-vs-load-balancing-whats-the-difference/ 

NEW QUESTION 5
A user takes a tablet to a technician because the cursor on it keeps drifting. The technician notices the screen does not appear to be damaged. Which of the
following is the MOST likely cause of the cursor issue?

A. The screen is physically damaged.
B. The screen rotation is incorrect.
C. The touch-pen battery is depleted.
D. The screen needs to be recalibrated.

Answer: C

NEW QUESTION 6
A company has a dot matrix printer that uses carbon paper. The company reports that the first page is printing too light, although the following pages are still
legible. Which of the following MOST likely needs to be fixed?

A. The print drum is worn and loose causing the printing to be light in places
B. The ribbon is low on ink or missing and must be replaced to get proper output
C. The heating element has failed, and a new one needs to be installed for proper transfer
D. The wrong type of filement is loaded, preventing it from sticking correctly
E. The fuser assembly is not calibrated properly, causing it to impact the paper too hard

Answer: B

Explanation: 

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version 220-1101 Questions & Answers shared by Certleader
https://www.certleader.com/220-1101-dumps.html (171 Q&As)

Dot Matrix printers do not use heat, they use a pin striking an inked ribbon (for the first copy, the subsequent copies are handled by the carbon paper)

NEW QUESTION 7
Which of the following would MOST likely be used to obtain electronic images of a large number of printed documents?

A. NFC device
B. ADF/flatbed scanner
C. Camera/webcam
D. QR scanner

Answer: B

NEW QUESTION 8
An administrator is configuring a corporate-owned smartphone for a new manager. The company requires the ability to wipe the phone's data remotely in the event
of loss or theft and the capability to approve applications installed on the phone. Which of the following tools would BEST meet this need?

A. Tethering to a corporate-owned laptop
B. WPA2-Enterpise wireless
C. Corporate enterprise email
D. Mobile device management

Answer: D

NEW QUESTION 9
A technician is implementing a SOHO wireless solution with three access points. Which of the following actions would avoid high latency?

A. Enabling and configuring a 5GHz antenna
B. Configuring separate IP ranges
C. Enabling multiple SSIDs
D. Configuring all devices with different channels

Answer: B

NEW QUESTION 10
An organization has some computers running macOS and some computers running Windows. The computers running macOS also need to run a piece of software
that is only available on Windows. Which of the following BEST describes the solution for running Windows software on a computer running macOS?

A. Operating system spoofing
B. Remote software provisioning
C. Indirect software implementation
D. Cross-platform virtualization

Answer: D

NEW QUESTION 10
Which of the following describes metered utilization of cloud resources?

A. Resources provisioned instantly
B. Payments made only for resources that are used
C. Resources pooled to increase computing power
D. Implementation of rapid elasticity

Answer: B

NEW QUESTION 13
A company wants to give third-party developers access to the corporate network through desktop environments that the company can control. Which of the
following can BEST achieve these requirements?

A. Sandbox
B. VDI
C. Private cloud
D. Saas

Answer: B

Explanation: 
VDI is a technology that allows a company to provide desktop environments to third-party developers while still maintaining control over the corporate network. VDI
creates virtual desktops on a remote server, and each user gets their own desktop environment that is isolated from the other users. This allows the company to
maintain control over the corporate network, as the virtual desktops are not directly connected to the corporate network.

NEW QUESTION 18
Which of the following commonly uses NFC?

A. Contactless payments
B. loT devices
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C. Inventory tracking
D. Tethering

Answer: C

NEW QUESTION 20
A technician installed a new router at a small office. After the Installation, the technician notices that all devices have a I69.254.x.x IP address. Printers and
fileshares are still working, but PCs cannot access the Internet. Which of the following should the technician configure on the router to enable devices to connect to
the internet?

A. APIPA
B. DNS
C. DHCP
D. SMB

Answer: B

NEW QUESTION 21
A technician was called in to look at a user's PC. The user reported the PC was very sluggish. The HDD light on the PC was constantly on without blinking. The PC
itself was slow receiving input and took a very long time to load the OS. The technician also noticed updates had failed. Which of the following is MOST likely the
cause of these issues?

A. The hard disk drivers have been corrupted
B. The HDD cables need reseating.
C. A RAID disk failed.
D. The HDD has no free space.

Answer: A

NEW QUESTION 24
A user submitted a ticket to report an issue with a new printer that is no longer accepting new print jobs. The technician verifies the printer is on and notices the
printer LCD screen has the following error message:
Paper Jam, Jam in fuser.
Which of the following is the MOST efficient next step the technician should complete?

A. Apply a maintenance kit to the printer
B. Check the printer paper path to locate any obstructions.
C. Turn the printer on and off to see if the error clears.
D. Replace the fuser.

Answer: B

NEW QUESTION 29
A technician is troubleshooting a computer that is not completing POST and gets stuck at the manufacturer logo screen. All internal, removable parts have been
disconnected and only the minimum parts necessary to POST were reconnected. However, the symptoms remain the same. Which of the following should the
technician try NEXT?

A. Test the RAM in different slots, one at a time.
B. Remove and test the power supply.
C. Replace the motherboard.
D. Change the CMOS battery.

Answer: A

Explanation: 
CMOS is for date and time and should not stop a host from booting. If working on a host with ECC memory you would test the ram in a different slot or a different
Stick all together. If that did not work, I would swap in the other CPU to check if that is the issue. The ECC part isn't important other than thats what I'm used to
working on at AWS and that is the only way you would be able to swap the CPUs easily.

NEW QUESTION 33
An IT manager discovered that hundreds of pages of printed materials are being recycled each day because the materials are left on the printer tray instead of
being picked up by users. Which of the following would BEST prevent this waste?

A. Send friendly reminders to not print unnecessarily.
B. Enable duplex printing to reduce paper utilization.
C. Bill each department for the excess material cost.
D. Require a code or badge before releasing a print job.

Answer: B

NEW QUESTION 36
An office manager reports that a printer is experiencing performance issues. Printouts are smudging when they are handled, and. recently, whenever the manager
tries to print oversized documents, the paper jams before anything is printed on it.
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A. Mastered
B. Not Mastered

Answer: A

Explanation: 
A picture containing text, electronics, printer Description automatically generated

NEW QUESTION 38
A client wants to connect an external keyboard to an Android tablet. Which of the following connection types are appropriate for this task? (Select TWO).

A. DVI
B. Infrared
C. Lightning
D. USB-C
E. PS/2
F. Bluetooth

Answer: AD

NEW QUESTION 43
A technician is configuring a new CAD workstation that has four large hard drives. The workstation will be used to edit large, critical files, so the storage
configuration should be both fast and redundant. Which of the following RAID levels BEST meets these requirements?

A. 1
B. 5
C. 10

Answer: D

Explanation: 
https://techgenix.com/raid-10-vs-raid-5/

NEW QUESTION 44
A technical lead wants to migrate all common business applications, including email and fileshares, to the cloud. Which of the following cloud concepts should be
used?

A. MaaS
B. PaaS
C. SaaS
D. laaS

Answer: C

NEW QUESTION 47
A technician is preparing to set up a gaming computer with the following components:

 Discrete, high-end graphics card

 Video capture card

 High-end processor

 Multiple hard drives

 USB 3.0 hub

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version 220-1101 Questions & Answers shared by Certleader
https://www.certleader.com/220-1101-dumps.html (171 Q&As)

 Sound card
Which of the following options is the MOST important for the technician to consider before building the gaming computer?

A. Redundant power supply
B. Modular power supply
C. 20-pin v
D. 24-pin power adapter
E. Power supply wattage rating

Answer: D

NEW QUESTION 51
A salesperson is using a weather application on a mobile device. The application appears to be draining the device's battery very quickly. Which of the following is
the BEST action for the salesperson to take in order to view weather forecasts while traveling?

A. Enable the GPS service to ensure accurate location detection.
B. Update the PRL when getting to a new location.
C. Configure less location checks using cellular location services,
D. use the offices' Wi-Fi IP addresses as the geolocation mechanism.

Answer: C

Explanation: 
The best action for the salesperson to take in order to view weather forecasts while traveling and minimize the battery drain on their mobile device is to configure
fewer location checks using cellular location services. This can be done by adjusting the settings for the weather application to limit how often it checks for updates
and uses location services. This will help to conserve the battery on the device and keep the application from consuming too much power.

NEW QUESTION 52
A technician is inspecting a projector that is displaying fuzzy images. Which of the following actions would provide the BEST solution?

A. Adjusting the lens
B. Changing the filter
C. Replacing the video cable
D. Reseating the lamp

Answer: A

NEW QUESTION 54
Which of the following should the data center hardware technician implement to ensure maximum uptime for customers' virtual machines?

A. Line conditioner
B. AC voltage regulator
C. Uninterruptible power supply
D. Cloud storage backup

Answer: C

NEW QUESTION 59
A hardware technician is configuring a laptop, and the network administrator requires the network settings to be static. The technician successfully pings the
servers by IP address but cannot ping the UNC path. Which of the following is the cause of this issue?

A. Domain Name System
B. Gateway
C. Subnet
D. IP address

Answer: A

NEW QUESTION 60
A customer reports that access to the network fileshare has become much slower than usual, but local applications do not seem to have trouble. The technician
checks the download bandwidth and finds no issues. Which of the following should the technician check NEXT?

A. Level of network utilization
B. Customer use of two-factor authentication
C. Amount of local drive space
D. RAID array drive health

Answer: A

NEW QUESTION 61
A user visits the desk to report that a smartphone takes more than a day to fully charge. The user has already tested multiple wall outlets and swapped the
charging cable, but the results are the same. Which of the following should the technician do FIRST?

A. Verify the power rating of the charger.
B. Ensure all unnecessary connectivity features are disabled.
C. Check that all missing smartphone OS updates are applied.
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D. Complete a factory reset of the phone

Answer: A

NEW QUESTION 66
A user on the marketing team uses various multimedia applications that consume a lot of memory. The user needs to install more RAM to run these applications
effectively. When the user opens the computer case, the user sees four slots in two sets of colors. Which of the following memory types is MOST likely required?

A. Dual-channel
B. Triple-channel
C. Single-channel
D. Quad-channel
E. Error correction code RAM

Answer: A

NEW QUESTION 69
A technician replaced a motherboard on a server, and now the 64-bit hypervisor is not loading correctly. Which of the following needs to be enabled for the
hypervisor to run?

A. Hardware prefetcher
B. Hyperthreading
C. vPro
D. VT-d

Answer: D

Explanation: 
https://techlibrary.hpe.com/docs/iss/proliant-gen10-uefi/s_enabling_VT-d.html

NEW QUESTION 74
A technician is installing new power supplies for the application engineering team's workstations. The management team has not yet made a decision about
installing dual graphics cards, but they want to proceed with the project anyway. Which of the following power supplies would provide the BEST solution?

A. 1000W 24-pin modular power supply
B. 220VAC 9000J surge protector
C. 500W redundant power supply
D. 2000VA uninterruptible power supply

Answer: A

NEW QUESTION 78
A user connects a smartphone to a laptop. Which of the following types of networks has the user created?

A. PAN
B. MAN
C. WLAN
D. LAN

Answer: A

NEW QUESTION 79
The IT department issued a corporate smartphone to a user, but the user returned the device stating it had connectivity Issues. The user claimed the device
functioned on WI-FI but all connectivity to cloud services was lost as soon as the device was taken off site. Which of the following issues was MOST likely affecting
the device?

A. MDM was never properly set up on the device.
B. S/MIME certificates were corrupted and needed to be reloaded.
C. Bluetooth on the device was disabled by mistake.
D. The device never had a proper SIM card installed.

Answer: D

Explanation: 
A SIM card is needed for the device to use cellular network services, so without it, the device will be unable to connect to the cloud services when taken off site.
MDM (Mobile Device Management) can be used to manage settings and access on a device, but it is not necessary for the device to be able to use cloud services.
S/MIME (Secure/Multipurpose Internet Mail Extensions) certificates are used to encrypt and digitally sign emails, and are not related to device connectivity.
Bluetooth can be used to connect devices together, but it is not necessary for the device to be able to use cloud services.

NEW QUESTION 84
A technician is upgrading a faulty motherboard that was ordered by an end user for an old, high-end desktop computer. However, the technician is unable to install
the CPU into the socket. Upon closer inspection, the technician notices the pins on the CPU do not line up with the socket. Which of the following would be the
best course of action for the technician to take NEXT?

A. Try to set as many pins as possible.
B. Install an adaptor to create a universal socket.
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C. Verify the socket type and manufacturer.
D. Find a compatible motherboard for the CPU.

Answer: C

Explanation: 
you need to know the socket type before you can go and find the replacement motherboard

NEW QUESTION 85
The owner of a restaurant reports that wireless network connections are lost intermittently throughout the day. Which of the following steps should a technician
take to troubleshoot the issue? (Select TWO).

A. Identify the location of devices that utilize 2.4GHz.
B. Check to see if the phones are IJTP or STP lines.
C. Test to see if the copper electrical Wires are causing interference.
D. Map all of the wireless signals in the restaurant.
E. Verify T568B is being used in the wiring closet patch panel.
F. Schedule timed router reboots throughout the day.

Answer: AD

Explanation: 
The correct answers are A. Identify the location of devices that utilize 2.4GHz and D. Map all of the wireless signals in the restaurant. In order to troubleshoot the
issue, the technician should first identify the location of devices that utilize the 2.4GHz frequency, as this can cause interference with the wireless signal.
Additionally, the technician should map all of the wireless signals in the restaurant in order to identify any potential sources of interference. Checking to see if the
phones are IJTP or STP lines, testing to see if the copper electrical wires are causing interference, verifying T568B is being used in the wiring closet patch panel,
and scheduling timed router reboots throughout the day are not necessary steps for troubleshooting this issue.

NEW QUESTION 86
A company needs to support a 10Gbps throughput. Which of the following is the MINIMUM cable category that could be used?

A. Cat 5
B. Cat 5e
C. Cat 6
D. Cat 6a

Answer: C

NEW QUESTION 90
A user working in the field reported the GPS stopped working on a phone. The user’s older, in-car GPS continued to function. Later, the user reported that the
phone’s GPS started working again. Which of the following MOST likely caused the phone’s GPS to fail?

A. The cell phone was in conservation mode
B. The cell phone had lost service to the earner
C. The eel phone received a firmware update
D. The cell phone had overheated

Answer: A

NEW QUESTION 93
A technician just finished assembling a new PC for a client. Upon POST, the device presents an unspecified beep code and turns off automatically after five
seconds. The technician double-checks the bill of materials for the new build and confirms all items have been installed. Which of the following should the
technician do NEXT?

A. Ensure thermal paste is being used on the CPU.
B. Check to make sure that any video cards have auxiliary power cabling connected.
C. Verify the header panel connector is properly connected.
D. Spot-check that the I/O shield for the motherboard is properly installed.

Answer: C

Explanation: 
The technician should verify the header panel connector is properly connected. A beep code is a diagnostic
tool used by motherboards to indicate issues with hardware components. This beep code may be indicating an issue with the connection between the motherboard
and the case's header panel connector. This connector is responsible for providing power to the system and any connected peripherals. Therefore, the technician
should verify the connection is secure and properly connected before attempting any other troubleshooting steps.

NEW QUESTION 96
A technician is tasked with upgrading a laptop's RAM. Which of the following steps should the technician lake FIRST?

A. Confirm that both the current and new memory are from the same brand.
B. Run a diagnostic test on the current memory.
C. Verify the memory requirements of the motherboard.
D. Connect an electrostatic discharge strap.

Answer: D
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NEW QUESTION 97
A user calls the help desk lot assistance configuring an Android phone with a new NFC-enabled speaker that will be used for an upcoming conference call. The
user was unable to direct the phone's audio to the NFC speaker. Which of the following sequences should the help desk technician walk the customer through to
accomplish this task?

A. Enable NFC on the speake
B. Ensure the speaker is less than 33ft (10m) from the Android phon
C. On the phone's Bluetooth settings menu for Connected Devices, select Pair New Devic
D. Tap to accept the connection to the speaker when the prompt is displayed on the phone's screen.
E. Enable NFC and Bluetooth on the Android phon
F. From the Android phone's Bluetooth settings menu for Connected Devices, select the Previously Connected Devices optio
G. Select a listed device that most closely matches the speake
H. Tap lo accept the connection lo the speaker when the prompt is displayed on the phone's screen.
I. Enable NFC and Bluetooth on the Android phon
J. Tap and hold the Android phone to the spot on the speaker where the NFC logo is displaye
K. Accept the connection to the speaker when the prompt is displayed on the phone's screen.
L. Enable Wi-Fi on the speake
M. Enable Wi-Fi on the Android phon
N. Tap and hold the Android phone to the spot on the speaker where the NFC logo is displaye
O. Accept the connection to the speaker when the prompt is displayed on the phone's screen.

Answer: A

NEW QUESTION 101
Which of the following cloud models maintains access, even when a local internet outage occurs?

A. Private
B. SaaS
C. Community
D. Public

Answer: A

Explanation: 
In a private cloud model, the cloud infrastructure is maintained within a company's own data center and is used exclusively by that company. Private clouds offer
the advantage of maintaining access even when a local internet outage occurs, since the cloud infrastructure is not dependent on a public network connection.
Software as a Service (SaaS) is a cloud model in which software applications are hosted by a third-party provider and made available to customers over the
internet. SaaS is not designed to maintain access in the event of a local internet outage.
A community cloud is a shared infrastructure that is used by multiple organizations, typically from the same industry or with similar requirements. Community
clouds are not designed to maintain access in the event of a local internet outage.
A public cloud is a cloud infrastructure that is maintained by a third-party provider and is made available to the public over the internet. Public clouds are not
designed to maintain access in the event of a local internet outage.

NEW QUESTION 102
A field technician has been dispatched to a site with an internet outage. Upon arriving, the technician discovers that the POTS lines are not working as well. Which
of the following technologies is the site MOST likely using?

A. Fiber
B. Cable
C. DSL
D. Satellite

Answer: C

NEW QUESTION 103
In which of the following places is a laptop's wireless antenna MOST likely located?

A. Near the network interface card
B. Underneath the battery
C. Integrated into the motherboard
D. In the bezel of the lid

Answer: A

NEW QUESTION 107
A technician is upgrading a legacy wireless router for a home user. After installing the new router and configuring the SSID to be the same, none of the devices will
connect to the network. Which of the following should the technician check NEXT?

A. OHCP pool configuration
B. MAC filtering list
C. Wireless protocol settings
D. ONS servers

Answer: B

NEW QUESTION 110
Which of the following is the MAXIMUM power PoE+ provides?
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A. 15.4W
B. 30W
C. 60W
D. 95W

Answer: B

Explanation: 
The earliest PoE switches from a few years ago generated 15 Watts per port (IEEE 802.3af). Today, most use the PoE+ standard (IEEE 802.3at), which generates
up to 30 Watts per port. That's plenty for most devices that people want to connect

NEW QUESTION 111
A small office has a wireless network with several access points for roaming laptop use. Users occasionally report that the wireless connection drops or becomes
very slow. Users have confirmed that this issue only happens when connected to the office wireless network. Which of the following would MOST likely be the
cause?

A. Hidden SSID
B. Device interference
C. Ethernet port flapping
D. High ISP latency

Answer: B

NEW QUESTION 112
Which of the following standards supports MIMO technology?

A. 802.11a
B. 802.11b
C. 802.11g
D. 802.11n

Answer: D

NEW QUESTION 113
......
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